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c. Let G be an Abelian group with identity e. Then prove or disprove
that H = {x € G : x* = e} is a subgroup of G.

5. a. Suppose that ¢ is a homomorphism from U(40) to U(40) with  2+2+2+
kernel {1,9,17,33}. If ¢(11) = 11, find all elements of U(40) that  #*2=10
map to 11.

b. List all possible Abelian group of order 56 upto isomorphism.

c. Express U(165) as an external direct product of cyclic additive
groups of the form Z,,.

d. Prove that - Any group of order 99 is Abelian.

e. Determine the class equation of S;.
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